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Hall Ticket Number
S. No. 79997
{To be filled by the Candidate) Booklet Code
SET CODE/ C
AR-5 Signature of the Invigilator

PAPER -1 (%56 - 1)
INSTRUCTIONS TO THE CANDIDATE {mﬁggﬁ JrSSen)
(Read the Instructions carefully before Answering)
@Tmed Yool Snoth eho OHS Srdsos FEEr $08d0usTw)
|. Separate Optical Mark Reader (OMR) Answer Sheet with Carbon Copy is supplied to the candidate along

with Question Paper Booklet. Please read and follow the instructions on the OMR Answer Sheet for
marking the responses and the required data.

wiphed: @Nh@o wEBSS o w55d &rf), 8488 (La0sl) 2aw Higo Hobokn S digo

(FE% 5°h) & wobodwdidod. wiplies 2w ady dwods Ldows 2aw SiFon o)

Srdden/Ehd SSrorod) g 0290055,

2. Candidates should write the Hall Ticket Number only in the space provided on this page and the
OMER. Answer Sheet. Do not write the Hall Ticket Number anywhere else.

& mdigo Sod HHdoin LIoud 2rw SFoD Ardodd PEdod’ Irgd wEglhen d FFEUEY

Jobds |WraHdBh. SIS Jonbd H'S L |rabrdd.

3. Changing of answer is NOT Allowed.
zIad J8 55%&&:&:6‘& ardnts wfldo Sudd.

#  The Candidates must fully satisfv themselves about the accuracy of the answer before darkening the
appropriate circle of 1, 2, 3 or 4 in the OMR Answer Sheet with Blue/Black Ball Point Pen, as it is
not possible to change or erase once darkened.

28 Ldowl aarmBi@od Friods rarmid BESdo Sadih, sl gaﬂsd&m Somorr w& Dol
2end Neo B0 Seod) erdSroness DANG' 1, 2,3,4 Symed” w8 3)@md) )5 roodsBl,

#~ Use of Eraser or White Fluid on the OMR Answer Sheet is not permissible as the OMR Answer
Sheet is machine gradable and it may lead to wrong evaluation.

Sorergosmo chogo sordor Boind Sod Lloud agmen JGoD 38 Lond I, ey M
T Sbd vinhs S,

4. Immediately on opening the Question Paper Booklet by tearing off the paper seal please check
for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions
(1-100), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within {ive minutes from the
commencement of the test.
a0 BT EE0 wit WS 8RS Toud sige Spiom (i) sl Sergpeds =358 £5
'AID DL B8 bRD a8 8 B8 50800FSTL. (i) 1008 100 S8 BHes &I ERod' a5
820 20800wE'SDR. (i) Do Sopg S0 (iv) 373 2uGe. I DEYS) dackras® Vi Sy
FBS oo wghen S SYTIEHD GRHE 50ETY 568 F 0TS S DTS PLBE D SrénESS,

5. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall.

S0 TSt Andoll JuEIE HVETSS v DEFS, 228, 5055866, JOERE F e, Kedd/enf

zufew sdoddodiadd.
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6. One mark will be awarded fdr CVery correct apswer. There are no negative marks.
25 @28 morws a;_ﬂ' Srdy, Beranosgo prd08. Jtodod Hard)E Srdy o Y. | _
7. .#Enswerst to the qII.l'_Eﬁf:lﬂHS must be entered onlyon OMR Answer Sheet by completely shadi:;g the appropriate
circle with Ball Point Pen (Biye o Black) only.
Ao o Swy wddanoss T Laoub ermd@ed Frgm S88 HEd) ISR s
arbodsBaa,
3. The OMR f}nswer Sheet Will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
Loowd 2w Hgo D SySod D5y Do BED S pYSH Fd Marg_cﬁeraﬁ H0RSonadsh.
). The OMR Answer Sheet will not be valued if the candidate
- Bl Ldoesl e HIB0D & ArkS HEs 50 353 Gude armdgo Sravgosme Sabadd.
(a) Writes the Hall Ticket Number on ,,n}f"].,ﬂﬂ of the OMR Answer Sheet except in the space provided
for the purpose,
Looud 2wy HIB0D Arsond FE4ost £E HSERS Jowsd B HBdos” 25,4 FRIDI5
(b) Writes anv irrelevani matter including religious symbols, words, prayers or any communication what
so ever in any part of the OMR Answer Sheet, , N
LJdowd 2o Sifon SHISHTTS ﬂﬁim, wFen, fodyen, @*Q.‘ﬁm 200 2Ed E}ﬁammﬁ?‘:}é marodo
TRIBSS
(¢} Adopts any other malpractice.
D508 SHEESEss Feydss
0. Rough work should be done only in the space provided in the Question Paper Booklet.
ETDgo 20EBES’ H5dS TrowodS HEfod’ Sorddo Dely 3D (8D 5§),) BoE IS5,

I. Cnce the candidate enters the Examination Hall, he/she sha!l not be permitied to leave the Hall till the end
of the examination.

@ﬂgg nEard B85 Fene*s (HT200H dopd D85 Sdooko Soofdh S85 achHedh Sodnadd.

2. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
eyl 85 @mdido MESTH Sirowedd Hidfod’ HPgIELA Aok, Hodle SEIETH. v Ldows
2rmigod wEgd 8ronods BBod® 85 Sodko BcHST.

3. The candidate should write the Question Paper Booklet number, OMR Answer Sheet number and sign in
the space provided in the Nominal Rolls.

TS oy ﬂéﬂcﬂ?& @adcs E‘:a‘.igg BFSde w584 Sopg, LJowd adwdiFo Songid O080M
(FoHS58d. :

t. Retumn the original OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to

return the OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The carbon
copy of OMR Answer Sheet and the Question Paper Booklet shall be taken away by the candidate and
should be preserved till the declaration of results.
388 Fen Ko webbk S vden LIous arwne ) SgIERIE wosBEuhsoh. obus
a—:a‘zu;’:lﬁc wodHoHds wEgih §65 JIgew A2085d0 26MH5008 5ol 248 Hoaed
Dendtodudd (D8 rdg). ©wEgl Ldowd aam SHido Sfw Doy & Pap@ioned $5 Job
8% 5D, HDerois Jodod S6% egighen Ldowd armd@o Sl Do BaHgo
wEBED S5 3G ST HEHENTIB5.

This booklet consists of 32 Pages-including Cover Page and Pages of Rough Work
& STSgo wfod KIHDE Sbdan D& S (83 35)& K00 32 Dl KON &)
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Time : 3 Hours Marks : 100
Instructions :

(i) :Each question carries one mark.
58 PH% o8 Sroy, So.

(ii)) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1,2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BIHS aS B8 PH% aSXWBE FES' HBIS BICEEINE XN TID Hrdod
©os 1, 2,3 85 4 T aid OMR 35008 Hi830es” 24) Sopghh IDdHhm He
JowodE DL wr/ers oS ool Tk SBBPN0D J0d58.

1 2
I. A company of 7300 soidiers is formed ot'4 battalians so that — of the first, 3 of the second,

-3

4
i of the third and 3 of the fourth are all composed of the same number. The difference in

the number of soldiers between the batialians with maximum and minimum number is

3088 Birdohas® —;‘ Soés, Todd TR % Jody, Sordd oaes” % 2 doéd Sobain
TenisS orRes’ % 3 S0, o) dSrddopgs® Godbenr 7300 A% Ko Fesld
BErOoHPH 2§ E0DIM Er@roBoT . VI K0 S08a50 §JP Doy o BLrdAHS
oy DI Dopges* Heo

(1) 700 (2) 800 (3) 900 (4) 1000

2. Abagconsists of one rupee, 50 paise and 5 paise coins in the ratio 3:5:7. If their total value
sum to Rs. 23-40, then the number of 50 paise coins in that bag is

28 HoDS* 2.8 grdron, 50 dw0 So8cin 5 pde F@en 3:5:7 IQ8S° savow. &
THo 3ngo Dend Erien 23-40 wond, & 50D 50 Do FHe Domg
(1) 10 (2) 14 (3) 16 4 20

3-C
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3. 1320 books of same variety are divided among 7 men, 11 women and 5 boys such that each
woman gets 3 times as many as a boy and a man as many as a woman and a boy together.
Then one Woman’s share of books is

28 &8, w8 wrend 0B 3 Biy IS SHbbprdd, 28 HEOWIE, w8 & Hdakw 28
zrenné 0D ;f)ifn T38 HdrHomrid @03&3&% 2.8 3806 1320 JPsreds Tokh Jhipen,
11 Soob @m $0050 5t (SN DefRoT &, oiyd w é T JI5e Domg

(1) 80 2) 75 3) 60 4) 55

-

4. Ifasum of Rs. 1,540 is divided among A, B, C =0 that A shall receive ; of what B and

. : 3 :
C receive together and B receives 1 of what A and C receive together, then C’s share

(inRs.) 1s

) 2
B 58030 C o% 80 38y Awgos” 5 Hodo AS 85(53&.3&.&}“, A o0osn C o 580 53)

-

Angos® T Sod B8 SHhtesms dmen 1,540 A, B, C o 65 dueh, C g,
Fir (Crmiedt)

(1) 930 (2) 820 (3) 740 (4) 580

5. A person covered one-third of his journey at 25 kmv/br, one-fourth of his joumney at
30 kmv/hr and the rest at 50 km/hr. His average speed for the entire journey (in km/hr) is

1 i

28 558 85 Podremod” T Sod ) Hobd 25 8.20 SEYS, Tl.l 5 S0 e Aodso
3

30 8.3 TOYS, AT ) Hoéad 30 8.20 PR TN ) Bards. Indof PArerds,

©Ed Jov0d Ido (B.o/Mobsy)

L
d
(S | | —_—

] 1
(1) 235 (2) 315 (3) 32 (4)

4-C
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6. TheaverageageofA,BandC is 84 years. If D joins them, then the average age of that group
is 80 years. If another man E; who is 3 years older than D replaces A, then the average age
of B, C, D, E becomes 79 years. Then the age of A (in years) is

A, B, C o 30756 50539) 84 Soddioren. D 5783 887, w 33007 cHdn 3070 Sahid)
80 Dodgoren. D Bod 3 Jodehddnen DETEn E, 0S50 A 8 adenrr 850 o
ddnorahost #68 B, C, D, E © 30000 Schidy) 79 Sosddsne. edyd A GBwog,
;’J:Dde\}J‘J (Honoess®)

(y 17 2) 76 @}) 75 4) 74

7.  The average of the first 15 multiples of 5 is
5 BnE), 30E8 15 wdwre ST
Ly 5 (2) 25 (3) 375 (4 40

8.  The average weight of students in four classes A, B, C, D is 60 kg. The average weight of
students of the respective classes A, B, C and D are 45 kg, 50 kg, 72 kg and 80 kg. If the
average weight of the students of class A and B together is 48 kg and that of class B and C
together is 60 kg, the ratio of the number of students in class A and class D is

Trenis d8kdien A, B, C, D os'R Do JUH 2P 60 8., D824 & SEKEen
A, B, C %8050 D 06% dmgiie 30790 Sohdoos S6Bm 45, 50,72, 80 .. 8648 A
558050 B & 530, ITgie ST00 2t 48 8. $0050 3668 B 508050 C & @0,
Dergdye Hos 28F 60 S ©ond, Adbcin D $6iHhes™d dorghe 58

(L} 23 (2) 4:3 (3) 3:2 (4) 3:5

9. The production in a factory got decreased by 25% due to reduction of work force. To
restore the original production, the working hours should betincreased by a percent

eQ'ghe Sopg Shothd Sod ef @“ggérz‘j‘m &dy8 25 Fdo 8456, Inddh &)
&S)B YSOGooTIFTIE DowHebs ddfobe edo

1
(1) 25% @ 33%
2
(3) 673% @) 75%

5-C
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13,

13.

14.
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 Anil sells his goods 25% cheaper than Sunil and 25% dearer than Akil. Then Akil’s goods

are cheaper than Sunil’s by the percentage
DA E‘_eE& :J:H@-U (583%0)5 ﬁ}fcle'f o8 25% TEmd), wds Kol 25% _‘;}"ﬁ:!u} 085
©i0ad. B IS GwE), SNPeo (dbhsen) 508 vhS SHeo, TE TS

(1) 25 (2) 30
. 1
3) 333 4) 40

3 5
45 2 70 @ 29

The number of zeros occurring at the end of the product 12x18x15x40x25x16x55%105 is
12x18x15%40%25x 16%55%105 wgin S0, D565 Sy {égﬁ?géﬁ;cﬁ;g} Dodye Doy
(1) 5 (2) 6 (3) 8 (4 10

Ll | —

-1
The value of [1—{1—(1 —x3)"} ] when x=0.1, is

1
x = 0.1 eondiyd {l—{1_—{1—.13':|_I}_l:|3 B0k Dend

() 1 (2) 0.1 (3) 0.01 (4) 0.001
"Thé sum of all odd numbers from 20 to 102 is

20 So0D) 102 565 Ko o) B Jopge Ingsn

(1y 1576 (2) 1676
(3) 2501 (4) 2601

6-C
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18.

19.
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When a certain number is divided by 223, the remainder obtained is 79. When that number
is divided by 179, the quotient is 315 and remainder is R.ThenR=

28 DA Hopgdd 223 F wrhodSHyE S Do 79. & JSowgd 1793 arhoDSSydd
erfPosn 315 SHocin 300 R odyd R=
(1) 106 (2) 109 (3) 113 (4) 118

How many numbers between 100 and 300 are divisible by 137
100 8 300§ Scasg 13 8 erfiodod Somgen D7
(L 16 (2) 15 (3) 14 (4) 13

If the sum of five consecutive even numbers is 130, taen the L.C.M of the largest and the
smallest of those numbers 1s

26 565 $oTopge Todls 130 wood, & Copguet KoY bain ] Sopge L.k
1) 240 2) 280 (3) 330 (4) 660
3

[f the difference between the simple interest and the compound interest for 2 years at 5%
per annum on a certain sum is equal to Rs. 50. then that sum of money (in Rs.) is

Sod iy HoSHTIE 5% FTE3S 2 Soddrokh wdy SESES Hon whSgs
Seggrio Bdo drien 30 wownd, s a0y (Sneres®)
(1) 16,400 (2) 17,800 (3 18,600 (4) 20,000

The compound interest on a certain sum of money at 3% per annun for 2 years is Rs. 246.
The simple interest on the same sun for 3 years at 6% per annum (in Rs.), is

Fod o J054TA8 3% SESE T39S 2 JoddEinesd vdy 5§ drien 246,
@d iy BoSEods 6% S9yS 3 JoddhESnek wadog a:*d:;":-é (Srnees®)
(1) 364 2) 384 (3) 416 (4) 436

[fasum of Rs. 3.903 is shared between A and B so that A’s share at the end of 7 years is
equal to B’s share at the end of 9 years at 4% compound interest per annunf, then B’s share
(in Rs.) is

BoSHTIE 4% SESG THYS T LodHHore DIES A Gng) T, 9 Sodoe DSEI
B @w¥), &trs Sirdo wdlgbinn drien 3,903 f0 ASdain Be Sl 5028, sdyd
B Gy, aer (Brneres®)

(1) 2,188 (2) 2,028 (3) 1,976 (4) 1,875

7-C
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21. If a sum of money amounts to Rs. 2,240 4t 4% per annum simple interest in 3 years, the
simple interest on the same sum for 6 months at 3%2% per annum (in Rs.) is

Fod FB)p D03HTE 4% S THS 3 SodSHTos' edy Tndo Eren 2,240
wond, od FSon VoSN %% THHE 6 Jveh ody wrd $§ (Eries)
(1) 80 (@) 65 (3) 45 (4) 35

22. Ifan amount of money grows upto Rs. 4,840 in 2 years and upto Rs. 5,324 in 3 years on
compound interest, then the rate percent per annum is

Fod 50y WES5ED 2 SoSEsnes® dren 4,840 565 S8cn 3 DoSHssnes®
Srien 5,324 S56% EHE0B, Holdrid 838 wdo
(1) 10% (2) 9% (3) 8% @) 5%

23. Two equal sums were lent out at 7% and 5% simple interest respectively. It the interest
eamed on the two loans add upto Rs. 960 for 4 years, then total sum lent out (in Rs.) is

Bodo HBrdTod rdvyods SEdm 7% sk 5% uﬂcf.:ﬁ%ﬂ adddo0d. 4 doddorost
& Do wiyeD Hdﬁ.ﬁg .‘5% Sndo Srnen 960 ©oad, f}é% 2 Jndo dwy (Bneres®)
(1) 2,000 (2) 2,500 (3) 3,000 - (4) 4,000

24. The ratio between the number of first and second class passengers travelling between two
railway stations is 1:50. The ratio of first and second class farés between the same stations
is 3:1. If Rs. 13,250 were collected on a day from the passengers between these stations,
then the amount collected from second class passengzers (in Rs.) is

Sod BBCRASE MGy Posrec T J0dE KB Todd S0K8 BHodrdie Kd
A8 1:50. 08 Pade HEg 306E Hboin Todd S61s o gy I8 31l w8
G'ard & Todh pASw oy Bosredtoen Hood S2r8S ooy drwen 13,250 BowS,

Bodd S548 BasrdHhHe ol SIS a0y, (Ernees?)
(1) 12,500 2) 11,800 (3) 11,500 4) 10,600

25. The savings of A and B are in the ratio 4:5. They bought a gift for their friend sharing the
cost in the ratio 3:4. If A spent two-third of his savings for this gift and B is icft with
‘Rs..145 after this purchase, then the value of that gift (in Rs.) is

A 58050 B eo wor 38 e 28 45 o7 E5 Hrdods, 3:14 R8s $8H
DowF ot &8 DIVHE Fah. & 2I0H8 FHIyd A €5 e IS rSaes*
2/3 S ermrd) nEHLD, aT0H8 FH Sbhard B 53¢ druen 145 A0S, & 2dvde
Jend (Erned*t)

(1) 105 (2) 140 (3) 160 (4) 175

8-C
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2.

AR-5 Booklet Code C

B takes three times as longas Aand C together and C takes twice as long as A and B together
to do a certain job. The three men working together can complete that work in 8 days. Then
A alone can finish that work in

1 1 2 3
(1) 205 days (2) 195 days 3) 133 days (4) ISE days

¥ HAN FG DoHEIE AD0ain C oo §0% SRFT 530058 Sordidey B 8o%otrd,
A 58050 B oo 500 8053 5500508 3o doho C uFoird. Sndr §9%
HTH & 52 8§ Fwed® IFh FRH. Anfd v HIJ o IaHadd 5§ SHko

Teren

L | e

1 1 2
() 205 Gwes  (2) 195 Cwen  (3) 185 Fwen  (4) I8

A group of men can complete a work in 60 days. If 3 more men join that group, that work
could be finished 15 days earlier. The number of men originally in that group is

FodHod Hhe dducToho of DAY 60 Sres® Jro dohied. H6° 8 Sued
HHen & SHnoraird) EOvIIYE, & B 15 Twen Snodm I b, Wiy
& JB0TreDos” Fwd Gd) HRY oy

(1) 20 (2) (3) 24 (4) 25

Working separately A and B can finish a work in 8 and 12 days respectively. If Astarts the
work and they work on alternate days, one on cach day, then the work will be completed by
themin

1 1
(1) 8 days (2) 97 days

1
(3) 10days (4) lDE days

DADAM HABHr AH0050 B e 28 500 Shdm § Hockn 12 Fares® i dabio.
A e 52D oD, F 280 FTHYS a6 e DED G HITR, © I FH FY
Fahde stedw

1 1
(1) SE Garen (2) 97 Seren

1
(3) 10 Sawen 4) 10 Swen

9-C
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29.: A cando a workin 8 days and B can doit6 days. They have undertaken to do that work
together for Rs. 1,800. But if they complete that work in 3 days by taking the help of C,
then C’s share of amount (in Rs.) is

Aeg 529 8 Swos® Bohiod. B od 300 6 S'wos® Schiod. 056 S0D & 53
Erien 1,800 o8 Do adyFand. C Gny), d5'chos” o6 & HA 3 Swred’
g 8%, etydn C i 0y (Emios?)

(1) 325 2) 275 (3) 250 (@) 225

30. 2menand 1 woman can complete a work in 14 days, while 4 women and 2 men can do the
same work in 8 days. If a man gets Rs. 240 per day, the wage (in Rs.) per day of a woman is

2FEH HHden Hodadn .8 ég & DD 14 Frod® Jrh Doiiod. ©d 5 4 EE"»”J
08050 agd Y& 8 Sres® TR, YHE Gk drien 240 Fodiod, HE
Serd 3Ty ddo (Ermied”)

(1) 148 (2) 160 3) 172 (4) 180

31. A,BandC getRs. 7,200 for doing a work in 24 days. Aand C get Rs. 1,880 for doing the
same work in 10 days while B and C get Rs. 3,600 for doing that'work in 24 days. Then the
ratio of the amounts that A, B, C receive perday is

o€ 303 24 Fweod® Doomdd A, B $:8a8n C en Erien 7,200 odosrd. od 5
A 500050 Cen 10 Sereds® Schaad dren 1,880 2088, B Hdcin Cen 24 Fread’
Bc%adE donen 3,600 rodherds. wdyd A, B, C oo 03 Fwrard rdve I8
(1) 75:56:19 (2) 65:56:29 (3) 75:36:39 (4) 65:46:39

32. Two trains with different speed and having lengths 120 mts and 96 mts respectively run on
parallel lines of rails. If they run in the same direction, the faster train passes the slower
one in 18 seconds. If they are running in opposite directions with the same speed as earlier,
they pass each other in 12 seconds. Then the speed of the faster train (in knv/hr) is

120 h:‘t.:ﬁpﬂ S0bcso 96 ﬁhbdg 89 e Do Ben woden 3355: Adned’ HIrostom
ﬂ:‘&.l Siped HEADEHTION. ©d o B¥S' Halrldyod, Jtom Fdd wod ISsmr
WY &I 18 ¥ode* orindod. ©d ab H6& IoED vhlvpor E'Jgt‘igé [t T
Boirdiged LETITES 12 BEods® mrineron. wiyh by SKos® Bokrdtyd)
Benwod SKo (8:2o/Kokso)

(1) 50 (2) 54 (3) 60 (4) 64

10-C
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33. A person travels 120 km by steamer, 450 km by rail and 60 km by taxi in a journey. The

1
speed of the train is thrice that of the taxi and IE times that of the steamer. If the time
taken for his entire journey is 18 hours, then the speed of the train (in kmv/hr) is
28 558 &5 Hokreos* 120 8.5 <rod) s, 450 8.5 Beowod Hocs; 60 8.5 irfyhuc

: 1
Jeyd>. Bewwod Ido, ) Irds 3 Biy H0aH orod Irrds 15 O&g. 083 Imdo

©o5rsm8 18 Hoben 588, Bewwod Ko (8.20/K0é%)
(1) 60 {2) 350 (3) 45 (4) 42

34. The distance between two cities Aand B is 510 km. A train T leaves A towards B at 2:45 pm
with a speed of 50 km/hr. It meets the train T, which leaves B at 1:35 pm and moving ata
speed of 60 km/hr towards A. The distance (in km) travelled by T by the time it met T is
A $8c5» B o3 3ot o Ddg drdo 510 8.20. 28 Bewvwod T Kot 50 8.2
oS A &od 2:45 pm & 20%endd B 3HH 3H&0d. & Jeowod, Kotk 60 8.
=08’ Bood 1:35 pm 8 2cHhendd AZHH S03) 58° 208 T;d Eeodiod. T 0%
2500808 T HcSr8odd drdo (8.20.265°)

(1) 185 2 192 (3) 200 (4) 210

35. Aboywalking at a speed of 5 km/hr from home, reaches his school 20 minutes late. Next
day he increases his speed by 1 km/hr and he is iate by S minutes. Then the distance between
his home and school (in km) is

28 BPTd Kok 5 8.0 Jrhos’ noll %08 w88 SEVFPIYE 20 dSndZNes 0BE
vodsomr Iferd. v HHISTw vsd 83 3mQ) Hoboo af §STHEH Dod3,
5 DSddnen sodgor Bievd. s8I Qods, 288 Hgihs) Erdo [8.20.08%)

1
(1) 8 @ 13

| L
@ 7 () 65
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36. The hour hand and the minute hand in a clock are at right angleés for the first time after
3 O'clock at ; :
o 2 .
(1) 3hrs 24ﬁm1n (2) 3hrs ZGHm_m
- 6 . g .
(3) 3hrs Zgﬁmm (4) 3hrs SZHmm

3

2§ $8WBrSoS Y dobe Inen Hfoin HdnAZN ey 3 dobon 88 EHad

S8 oontoods’ ol Huobho

2 . 2 .
(1) 3dotre 24ﬁ§3_m (2) 3obw Zﬁqm.m
i
6, . 8
(3) 3dobeo2s —d.e (4) 3dove 32 Q.

The time between 3 (' clock and 4 O' clock, when the minute hand is 4 minute spaces ahead
ofthe hour hand, 18

7
(1) 22 min. past3 (2) 21 T min. past 3

g 2
(3) 20 1 min. past 3 (4) 20 I min. past 3

Adnddwe Swww, fobeo Swen Eod 4 Jdnnwoddhne Johi Td ey,
fdoirdos” 3 Hobeos, 4 fobosh gy Jdvobo

.
(1) 3 dotseny ¢ 22 dnex (2) 3 Aobren ol 21 T e

8 2
(3) 3 Sobsens od3 20 ﬁ nexd (4) 3 Kotsen 88 20 T Qnew
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If the two hands of a clock coincide (are together) for every 64 minutes, then the time
gained by 1tin a day is '

. . 2 . 8 . 7
(1) 35min. (2) 34 T min. (3) 32 1 min- 4 31 T min.
28 KB05rEos ™ Bodkh Soeen, B8 64 SnISNeH Jordsn BohHcd (28 Tas

Q05°5¢3 §E}\§}, 2. Seres® & KAosrdo wfgorr Fod s*wo

: " .
(1) 35 Qnexn (2) 34 % e (3) 32 Tl Mo (4) 31 T e

The day of the week on 10™ June 2002 was

(1) Monday (2) Tuesday
(3) Saturday (4) Sunday

10 25 20025 o806 R &ar

(1) FSoadsn (2) BoohFaEsn
(3) #ES0 (4) esdzES0

The last day of any century can be

(1) Tuesday (2) Thursday
(3) Monday (4) Saturday
DB fergo GIn¥), D50 e sAINL

(1)  Dorgarshin (2) KSHTES0
(3) dFdoaesw (4) #8520

[f 5™ March 1999 was Friday, then on 27" March 2000, the day of the week fell on

(1) Tuesday (2) Saturday

(3) Sunday (4) Monday

1999 3>8) 55 86 HEICo wond, 2000 508y 275 BHS ardos® 5F) &'
(1) Hooddad :'m (2) #da8S5%0

(3) esdadsD (4) FFSoarddn
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In one kg mixture of sand and cement, 20% is.cement. The amount of sand that should be

; , : S
addea 10 the mixture so that the proportion of cement becomes SE% 1S

(1) 1.2kg (2) 1.25kg
(3) l4kg (4) l.64kg
2§ BSYTEN Qg S00c0 Do F00S* 20% Hotn &HB. Bk Sod o

| .
eio 35% A58 DEdoss” Euddond 2t Hbhr=mo

(i) 128 (2) 1258

(3) 148 (4) 1.64 &y

The population of a town was reduced by 12% in the year 2008. If it was increased by
15% in 2009, the effect of increase/decrease percent on the population at the beginning of
the vear 2010 is

(1) increasc by 3% (2) decreaseby 3%
(3) increaseby 1.5% _ (4) decreaseby 1.2%

2008 fod3d)8ine® a8 dhmo aayr 12% 8388, 2009 &° 8 25y 15% w048,
2010 SoS&do rSozfods” P BIYT D éaéﬁacﬁag Dhmbe | $MHde FEo Pardo

1) 3% p&kHse (2) 3% $Kd8e
(1) .

(3) Li3%admde (4) 1.2%side

A person spends 75% of his monthly income. If his income increases by 20% and his
expenditure also increases by 8%, the percentage increase in his savings is

28 558 55 srabos® T5% woy B, ©8d eraho 20% DA, B8 By Sk
8% 2BAS, wdis Tn HHS DHME TEo

(1) 52 ) 56
(3) 60 (4) 64
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. 1 1
A person sells his table at 12 E% profit and his chair at 8 3 % loss and gains Rs. 25 on the
1 1
whole. But if he sells the table at 8 E% loss and the chair at 12 > % profit, then he neither

gains nor loses. Then the cost price of the table (in Rs.) is

LY

1 1
o8 598 85 Bendd IEE% eorer8, 56y 85% S8 ooy, Indo e 25 doenen
1 1
ordio Fomrd:, o3, vk Haodd 8;% S8 508050 K8)D 125 % orerdd 0dnE,

©EJE ergorra, SRoma QB . I & B B §8 (driod’)
(1) 360 {2) 340 (3) 320 (4) 300

The market price of a shirt is Rs. 480. If the shop keeper allows a 10% discount, then he
gains §%. If no discount is allowed, then his gain percent is

2 TE), BnE), HESS &6 Srnen 480. Sosesrd:de @D 10% 43,08 oW, vsd
8% ergfo rocosrt. G0 A RIEFE, w&Ed ogfTdo
(1) 18 (2) 20 (3) 22 (4) 24

Amala purchased goods worth Rs. 450. She sold one-third of them at a loss of 10%. To gain
20% on the whole transaction, she should sell the remainder at a gain percent of

1
wdeo Srien 450 DS INHeD FHd. FES 3 S0 e 10% S8 0dse.

Ao $555°630D 20% oo FodErdE, DRI SJod vl vlnliods oy T80
(1) 30% (2) 35% (3) 40% (4) 45%

A trader sells a transistor at 15% above its cost price. Had he bought it at 5% more than
what he naid for it and sold it for Rs. 6 more, he would have gained 10%. The cost price of
that transistor (in Rs.)1s

28 B850 2 ErQPOD, B E6 15% Jd,5% wlmeth. wsd o8 BYoDS
oD E0B 5% Q5,350 AR FR, 6 Srnen 5,58 oo @:béé, 2$8 10% orgo 53y
038, ¥ YR §F) Do (Eriwd’)

(1) 1,200 (2) 1,000 (3) 900 (4) 800
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49. Atrader allows a discount of 10% on a calculator. In order to gain 20% on selling it at this
discount, the percentage of increase on its cost price that has to be marked, is

28 g8 o€ O5EBLED 10% 8,080 ©HHBE. & B,008 THD @uydr
20% eregins: FoSTIL, £ $5 §oB wssor BESoBIODS &8 EnY, TEo

1
(1) 10% (2) 30% @) 333% 4) 34%

50. AandB candoapiece of work in 12 days, Band Ccandoitin 10 days, Cand Ain 15 days.
The tims taken in davs for Aalone to complete thar work 15

ASboin RBef 523 12 Feeodin, Bioddin Ca dan 10 oS, CSodcis A
500 15 Fwod ' Tahiod. Awuf)d o 5D Jrf dobads ;3§ srodn (Fared)
(1) 40 (2) 36 (3) 34 (4) 28

In questions 51 to 53, in each question, four entries have been given, out of which three are alike
in same manner and the fourth one is different. Choose that different entry as your answer.

51 &0d 53 56% o PRéHLET, B0 PHS'S Fouh voren INwATon. FEST Sl
oFTe) E S80I g a“drﬁﬂgﬁul £0A =odron, Jrel wodo DE].‘SJQW s otunod. @t};oﬁ_"‘
DD woTd) D3 HDIFrHom JonE Dauod

51. (1) Deer (2) Zebra
(3) Hyena (4) Garaffe
(1) &6 @ e
3) o @) 209
52 (1) 15 (2) 25
(3) 37 4 71
53. (1) Dolphin (2) Zebra
(3) Lioness (4) Crocodile
(1) =&y (2) Ber
(3) 03B (4) €F85
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In question 54 to 55, you are given a set of four figures (1), (2), (3), (4) out of which all except
one are alike in same manner. You have to select the dissimilar figure in the given set and choose
jts number as your correct answer in the options (1) to (4) given

54 $0D 55 565 Ko @Hes' D Tend dLdwen (1), (2), (3), (4) asgpdaon. 8
2 E8 0SS NADZD ©d) IS .8 IGormr af FErrgd) FOH Gotron. EE BWES" Yo
) f.‘.té.PEﬂ JohE WEQ, D)sTen (1) So0d (4) &° o Dopgdo IBGS Jdrgrdom JohE
S5050a.

_ ' — 7\ N o 7
“ O !@ ) {3/
, ;)

(1) (2) (3) {
53. /’ Ry
) B
e J
(1) (2) (3) (4)

56. Aand B entered into partnership investing Rs. 16,000 and Rs. 12,000 respectively. After
3 months A withdrew Rs. 5,000 while B added Rs. 5,000 to his capitai. After 3 more
months C joined them with a capital of Rs. 21,000. At the end of the year if they gained
Rs. 26,400, then B's share of profit exceeds A's share by

(1) Rs.2,400 (2) Rs.'2,800
(3} Rs. 3,200 (4) Rs. 3,400
A $08050 B oo 3% Srwes 16,000 356c30 drien 12,000 Binnds® o8 &b
o) FScDo=d. 3 Ive SHard Souen 5,000 ol A 3585 O0FB, B &35
Dixeds oo 5,000 $9bad. 58 3 oo Sthard Grien 21,000 bepwds® Cros’
QDT . DoSF TSI T8 Sruen 26,400 ergo 5, A Fér ergfo $08 B Fir

orEo BHEgE
(1) &oeuen 2,400 (2) &rnexs 2,800
- (3) Goruen 3,200° (4) &rnen 3,400
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Ly AandBmveste:dRs 30,000 and Rs. 40,000 respectively in'a business. Areceives Rs. 100 per

month out the Profit towards running the business and the rest of the profit is divided in proportion
to their investments. If in a year time A receives a total of Rs. 3,900, then B receives Rs.
A 508050 B &8 argirdos® S6dm dou 30,000 508030 & 40,000 éped 2ETEH.
Frgron) DEGRroNH0EE SIS ergfoss® A 8 Jos drn 100 FPS 21), DADS e
58 Dénwdio INES' HoHHad. uE Josddosroos” A § Fngo &en 3,900 5,
B & 53 &3 & o

(1) 3,600 (2) 3,800 (3) 4,000 (4) 4,400

58. A, B and C entered into a partnership in a business. A got % of the profit, wLileRand C

distributed the remaining profit equally. If C got Rs. 4,000 less than A, then their total
profit (in Rs.) was

. 2
A, B 508050 C en 2§ gddos® eriidgdnenm 3058, ergfoss® T Sod A 0dS,

DADS ey B H08c80 C e ddrsSom Hoh& o). A god C 8 &. 4,000 £59,35 5,
vdyd 570 Andgo ergio (Brneses®)

(1) 34,000 (2) 36,000 (3) 38,000 (4) 40,000

59. A, B and C became partners in a business with respective investments in the ratio 5:7:6.
Next year they increased their investments by 26%, 20% and 15% respectively. if their
profit at the end of second year is Rs. 21,600, the difference between the highest and
lowest share of profit (in Rs.) is
A, B 508050 C en 383 5:7:6 D860 Digutod® o8 rgdrdod® eridngSunodirgth.
&5 550dE Jodd¥o T8 DRt T SHdm 26%, 20% Sobasn 15% odard.
Bodsd Hosdhdo VSE 8 erdo &, 21,600 woxnd, @65&5 Sobcsn wdgey orgre
FTire D6y Bo (Srmed)

(1) 2,100 (2) 2,250 (3) 2,360 (4) 2,440

60. _ Tﬁrce sides of a cuboid are 18, 37.5 and 40 cm. If there is a cube whose volume 15 the same as’
this cuboid, then the length of the diagonal of that cube (in cm), correct to the nearest integer is

2§ BY, o S, Sordd ghudne 18,37.5 H8csn 40 Do.d. & B, o WS
Q}Ei;"maaoﬁ‘ DIrIS S HoLrerr) £OAS 28 Do @08, & Mdo :ﬂwéﬁ DEGSW
FEH (don D. k) HDD HFrrossnds d5soST

(1) 48 2y 50 (3) 52 (4) 54
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61. The number of cylindrical candles each of diameter 4.2 cm and height 2.8 cm that can be
prepared from a rectangular cuboid shaped wax solid with dimensions 66 cm, 42 cm and
21 cm, is
66 B0 Bo., 42 o1 Do. $:8630 21 on do. Fodes $0AS &8 88 HTTEH PIH By
5009 28§ 4.2 Don D, TgdB0, 2.8 Don D. Iy ol SoSrHBHIOR
_,; Ty Tt Sde Somg

(1) 1400 (2) 1440 (3) 1480 (4) 1500

o
N

Tie external dimensions of a closed wooden box are 18 cm, 10 cm and 6 cm and the
thickness of the wood is 5 mm. [f one ¢.c of wood weights 0.8 gms, then the weight of that
box {in ams) is

28 ok &F) 25,3 wing Fodes 18 o 3., 10 on Do.508ai0 6 on 2. Sobosn
s D5, Dodsw 3 0.0 28 0 on . 3K, 2HFH 0.8 riven zond, 3 F 28I
(rsves’)

(1) 394 (2) 324 (3) 252 (4) 242

63. Asolidtoy is ir the form of a right circular cylinder with hemispherical shape at the bottom
and cone at the top. Their common diameter 1s 4.2 cm and the height of the cylindrical and
conical protions are 12 cm and 7 em respectively. The approximate volume of that solid
toy (in cm?) is
&8 AE(E8) e §'5), 8 wriio eI E)8A, B erio 05D S5BI OIS o8 vo
5805 Srdo wsded’ ¢ob. 98 e &858 gl 4.2 Do.h. SpFrsd Sodckn
Foo e Priisve Jder SHOIHT 12 Do.d. Hgwn T 0o, & {8 ub TNy
Ang), 2 8Sr00 (Hd Wo..05") GEpowor
(1) 218 (2) 248 (3) 276 (4) 292

64.- The radius of a conical icirt is 7 meters and its height is 10 meters. In mgking the tent, if
* canvas cloth of width 2 meter is used, the length of that canvas needed (in meters) is nearly’

2§ $050)) 85 G &) Kmrbo Bug, FgArgo 7 Ne, T I 10 DLE. & Hado
SSrGHBohmdE, 2 D6y Doy Ao BT g% TEB, TEodS sogd B 249
(Wérges®) Dodrdom

(1) 1384 (2) 1342 (3) 132.8 (4) 1306
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65. - Ifa cylinder, a cone and a sphere have the same radius and equal height, then the ratio of
their respective curved surface areas is

2.8 “nl)q}ﬁ&')w, 2.€ ¥0%50% H00c%0 =€ A¢inen 28 a‘gﬂ'g.ﬁné}, DIrIDS 0 E9A
%08, o8 SFde JIrogine NG SHdm

(1) -3:45:4 () 4:5:4
(3) 2:43:2 4) 5:3:4

Tn questions 66 to 71 there is a detinie relation between the first two entries. The same kind of
relation exisis between the third and fourth eniries. Choose the correct one among the given four
options and answer the questions

©Heo 66 Sood 71 S5, 2065¢3 Boch wodlneth wf ARHRS dowoo &ob. R0 DS
domodc, Sards S0ty T vodbive iy Sr X)gﬁ%éo. D% RND Tenid S
$o08) $0GHS 25 JobE B, PHOK 2w Traod.

66. Barrel : Vial ::

(1) Shovel: hee (2) Key:door

(3) Volume : Monograph (4) Honey: Milk

o0& : Achd i 5

(1) 23S :5 : 2) §:86

(3) sTerg : SrSTh (4) & : 0,
67. Fewer: :: Countable : Uncountable

(1) imaginary 12) toral

(3)L_ le;s (4) sum

Irgosab i  Fobend  waFobznd

(1) 23230 (2) &5*6dS

(3) 8% (4) Ha
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68. FORAGE : SEARCH :: ~ _:CONFUSE

(1) ) HAUNT (2) HIDE (3) FLUMMOX (4)

FOE 26y . 1E3FrgE

(1) o0& 2) a6 () 3598 (4)
69. 97:89::43:

(1) 31 (2) 37 (3) 40 (4)
0, 07 I 5

(1) & (2) 12 (3) 24 (4)
71. 0O: 2 Celsius @ Kelvin

£) i Rdyoiown :E‘.Elsﬁ

(k) 32 (2) 180 g 212 {4)

GET IT ON
Google Play

CLARIFY

41

273

[n gquestions 72 to 75 each question consists of two sets of figures. Figures A, B, C, D constitute
the problem set, while (1), (2), (3) and (4) constitute the answer set. There is a definite relationship
between figures Aand B. Establish a similar relationship between figures C and D by selecting a
suitable figure from Answer set that would replace the question mark (?) in figure D.

72 S0 TS 568 Ko @8 19HS° Bod Jbdwe Ssuraidneanon. A, B, C, D S&iwen
53005 5208, 1,2, 3, 4 dortoes DETES H208D wrDFaw. A 508650 B o S06g 28 395
Hozmodo H08. wired foword) C & EOAS ) Jdrerd 38 Sod, D &0 FT28

Joh¥ Dcliod.

?2.! T
IA /.\1’7 ?
A B G D
73.
A B C D

21-C
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74. :
ARZO] OISO
A B C D (1) (2) 3) (4)
75. |
C 3] | |
A B & D (1) (2) _E] (4)

Directions for questions 76 to 80
Following are the eligibility criteria for becoming member of an exclusive club:

(i) The applicant's annual income should be atlcast Rs. 5 lakhs. He should be able to pay one-
time membership fees of Rs. One lakh

(ii) The conditions given in (1) are both relaxed upto 50% for former defence personnel

(ii1) For the children of existing members, the criterion of annual income is reduced to
Rs. 3 lakhs and one time membership fees to Rs. 70,000.

(iv) Judges working in courts presently are offered free membership and the stipulation of
annual income is waived.

(v) Irrespectie of annual income, a national level sport personnal is eligible to be a member by
paying Rs. 20,000 as membership fees.

In each question, information about an individual is given. Based on that, you have to decide
under which criterion/criteria, the individual is eligible for membership. An individual can be
eligible under more than one criteria. You are not supposed to assume any thing, other then the
informaion provided in cach question,

Study the above information carefully and answer questions 76 to 80
76 S50 80 358 fo BHLS Drdden
wE NG JPIndk Dobd EHS® DfgdhSnttn, & 8HSS Jwodden FAgnA TR0

(i) G65RTO FOT sorabo D0 &rm.eo 5 vfen Gowd. wddk i3 Hafgds ddoSom
eE dArSranvien mfladifierd

22-C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

AR-5 Buuklei: Code | C

(ii) - Arodnd SHSNS* Rod Frdso D BHS 788 (i) &° S cShSren Todr 50% S5
BEDoSwE e 00

(iii)- (8o Hehgent GHT0 HYOB, FOT B0 JNES &r. 3 v Hdovate0d
2o80%n 28>0 5§ deigds oSn &r. 70,000 05 Hosathdod

(iv) Bgo Ffos® HATH 28of J Hhdn SHhoa JfgEo asgSrHed Sk
Fdo oo AwodS HE)S Bl D

(v) &d> wmchod Homodo SHhom, =8 Fon Bwstd, ddgds ddodom &,
20,000 300D Bgbgdd HE A8 Wl dHerdd.

B8 HHS'L, w8 588 Douododd ddrerdo adinbod. ol sydor, & DeodS/dnodse

1§08 @ g8, JPgdcBnst vl §HeE Dk AonoTd. 8 58 w88 Lol IyS Anodde

$o8 ©dy do s8N, @8 BHT B, S ISrTEI0SH oD D IV vHED

B DR Erd

P dSrordo g edgoinde DD 76 Sood 80 S5k DHos mawww |aod

76. Rakesh Varma is a working pilot in Jet Airways with an annual income of Rs. 10 lakhs. He 1s
ready to pay Rs. 50,000 for a one time membership fees. His father is a retired Navy
oiticer. Then Rakesh 1s

(1) noteligible

(2) eligible under (11) & (111) only

(3) eligible under (iii) only

(4) eligible under (iv) only

8r.en 10 ofe Jo3d)0 sordod® o8 56 B drd ?GQPS‘ OB H) TRTw.
230 SLB50HS BeSgEGED &r. e 50,000 LTS BEK HobERECED. BE
o IFod ID wDHHE. wHyd T8

(1) o8 i 5=

(2) (ii) 500050 (iii) Bo& SemEdo w8 6o

(3) (iil) Bod SrEd wiy b

(4) (iv) Bod SorEgid o ko
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77. Kiran Gupta can pay Rs. 70,000 as membership fee. He has been playing in National Basket

78.

ball team and he is working in a public sector bank. His father is a member of that club.
Then Kiran Gupta is

(1) noteligible

(2) eligible under (v) only

(3) eligible undengiii) and (v) only

(4) eligible under (iv) only

865 thar dPgde Hodwom &red 70,000 BdoSied. 08k #8ch o8 s
BHS* vadant Louks Phdy SoX 2gobs® B ITd. vEs Sod » 55
Daghs. wiys 865 MF

(1) oHd s

(2) (V) Bod Sr@d vd b

(3) (i) So8csn (V) Bof SmE@ &) &

(4) (iv) (808 Sr@d vy &

Gauri Shankar's annual income is Rs. 6 lakhs. He is a retired judge of High Court. He can
pay Rs. 1 lakh as membership fees. He is a National Cricket Player from his home state.
Then Gauri Shankar is

{1) noteligible

(2) eligible under (i) & (v) only

(3) eligible under (i) & (iii) cnly

(4) eligible under (i) only

A6 086 D03 sraRo Gr.ed 6 vEw. VW o8 TER JFod 2d. VI ¥ of
Some Segds GtoBom ShKed. V85 &5 THo 693 BaH Foo 38 BT,
oHY&.T3 085

(1) w8 d 58

(2) (i) 58050 (V) Bod Sr@d edy do

(3) (i) 805 (iii) o8 S &,

(4). (i) B0 S oK
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Preeti Singhal is the daiighter of an existing member of the club. Her annual income is
Rs. 4 lakhs: She can pay Rs. 80,000 as one time membership fees. She works in Indian
Airforce. Then Preeti Singhal is

(1) eligible under (i) & (iii) only

(2) eligible under (i) & (iv) only

(3) eligible under (ii1) & (iv) only

(4) eligible under (iii) only

B8 Dodrs, & E5 GnE), 28 PNG J30gd Gwg), i3 o Fd> wordbo Eren
4 ofen. 288 T Iy KLoin @od wd &r.an 80,000 BRosKed:. 8 Es
FSnRSS* B TEH6. wdhds 8 DodrS

(1) (i) Sodcs0 (iii) Bods SrEd vl oren

(2) (i) So8osw (iv) Bod Sr@ vk ore

(3) (i) S0 (iv) Bod SrEdh ek oen

(4) (iii) B0 SrEd v e

Shobha Sharma works in a Public Sector Bank. She is a player in National Badminton team.
Her father is a retired judge of a district court. Her annual income is Rs. 6 lakhs. She can
pay Rs. 1 lakh towards one time membership fee. Then Shobha Sharma is

(1) eligible under (1) only

(2) eligible under (1) & (it) only

(3) eligible under (i) & (v) only

(4) eligible under (1) & (iv) only

§'% 96) w8 Habds Soif wrgo8S’ 5 Biod. s 8D wgELoLS 2ins” wdB.
uwd) Sod 2§ zer B IFTod 2§ 4D T amrco Gren 6 ofw, e 286
TDoSBODS DgH GE dr.ed of of Boskudk. vy T 5

(1) (1) Bods Srgad vl oren

(2) (i) o805 (ii) Bod Srm&H ©& oed

(3) (i) S08050 (v) 8ot SmEd ©d oen

(4) (i) S08csn (1v) fod SrEd o8 oren
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84.
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IfFTEACHER and HIGHLY are written as XWPBRWM and RSNRDZ respectively, how
will be the word CHARITY coded?

TEACHER %8a%n HIGHLY Sored Sddm XWPBRWM fo0iw RSNRDZ e g‘ﬁn
CHARITY 3o 2 dgorm l‘g'o‘:bz’.n‘.’un}?
(1) BRPMSXZ (2) BPRNBSZ (3) MBRPDSZ (4) BRPXSMZ

If FURNITURE is coded as ERUTINRUF, how can FRAGRANCE be coded?
FURNITURE % §6 z°45* ERUTINRUF v \ov%, FRAGRANCE % §°67

(1) FCNARGRFA (2) FARGRACEN
(3) ECNARGARF {(4) ARFGNCRE

Ifthe word DIAMOND is coded as AFXJLKA, then JLKHBYV is the code for
DIAMOND % 8& AFXILKA®=ond, JLKHBV @?".-H‘ai &M fod
(1) MONKER (2) KEYMON (3) MONITER (4) MONKEY

Consider the following codes and decodes. The codes are written in CAPITAL
(Upper Case) letters

Decode/key: b a e 5 p r h 1 g t
Code : L X P Z J Y Q M N B
Decode QPMNQB

& $od 56, 65880 58200508, Foen DE (570HE) vwiTws” Tabadsd
&5°5/8: b a e S P r h i g t
§'G : L X P Z J Y Q M N B
QPMNQB @, 45'a ,

(1} cought (2) matery (3) fights (4) height

L]
A man starts from a point and moves 3 km North, then tums to West and goes 2 km. He then
turns North and walks | km and then moves 3 km towords East. How far is he from the
suamng‘pomt { ’

(1) 11km (2) Skm (3) 10km (4) 8km

2§ 5d% @doy Lo 08 &ddo 3 8., WHE H0d DM IS 2 8.0
6T, o8 008 G0 PR | 8.7, vHE Hod &rddy FPSH 5 8.0, $87,
wdb |@rdo ga’:o wod Jdod Srdoes® Godrda?

(1) 11 8. ) 585, (3) 10 &5 (4) 8 8.5,
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86. Point B is 3 meters to the North of point A, Point C is 3 meters to the West of point B,
Point D is 5 meters to the South of point “C’, Point E is 7 meters to the East of Point D. In
which of the directions is the point E, with reference to point B?

(1) East (2) South

(3) South-East (4) West

B o3 Doghd ADodP 3 dobg drdos’ $48 83S* ¢0b, ChHokY B 3 kg
BrEoS* BG5S BIS*, DDothY CH 5 Dby drdoss® S8mddes’, E HothP D 7 Dot
ErSoes’ S &¥S" Ganow. B Do Syrs, E Do 2 8IS &ob?

(1) st (2) &S8esx

(3) eshAjcsse (4) HeaEsd

For questions 87 to 90, cach question is followed by two statements [ and II. Mark your answer as
(1), if the statement | alone can give the answer

(2), if the statement IT alone can give the answer

(3), if the statement [ and II together are necessary to give the answer

(4), if the statement [ and [I together also are not sufficient to answer the question and additicnal
information is necessary

87 00D 90 S680 Mo P8 EHT S w8 (B, o Sogd Todd PdITen [ 1l e auyd.
P3S50 [ & Srgd BHH 20dS5ciond (1) vd;

B3550 11 6° Sr@d BH% 250500008 (2) vd;

B3S30 1 [ od 8003 Sr@d BHH 2505¢0008 (3) o;

BESS0 1, o Bodr &), 20508 0dd ddrTdo DHor DR 2adiDEFra (4) o
oo ﬁﬁm‘ﬁ“&"ﬁ.‘ﬁl fo8odod.

87. Manoj, Prabhakar, Akash and Kamal are four friends. Who among them is the heaviest?
(I) Prabhakar is heavier than Manoj and Kamal but lighter than Akash
(I) Manoj is lighter than Prabhakar and Akash but heavier than Kamal

STE, Perst, svh HBcw FHE BT TEH SwHd rden. IOS° INDH VEHHE S
a8a?

() ©aes, HSE 50050 EHS 5B adhdS T, wond Bsh Lo 8083 &
(I) HoS'E, D86 Sodddn wsh 5ol BB T, Wond S KoB adId T
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 Zis inwhich direction with respect to X?

(D) Y isto the South of X, Z is to the East of P and P is to the North.of Y
(ID P is to the Southof X '

X &ydpg, Z ) 0¥S* @od?

D X3ng, ¢8wo 39S Y @od, P By, SrdS Z #0d 50800 Y Sw) &£850S
P so8.

(1) X Do, d8adnsd P #od

What is Nitin's rank from the top, in a class of 40 students?
(I}  There are ten students between Nitin and Naveen
(Il) Naveen is twentieth from the top

40 £08 DIrghen fio w8 S0HBS' D 08 IBS A, ToH Jo&?
() 2858 $DS& Sagsg 10 H00 HEghed &I
() B S0b $D5 205 do

How many gift boxes were sold on Monday?
(T) It was 10% more than the boxes sold on the earlier day i.e, Sunday
(II) Every third visitor to the shop bought the box and there were 1500 visitors on Sunday

FRTToTE D) wdodd den @h&&ﬁmmm?
(I) woss Bods Bar, wdm vbdodo s DB 08 10% wikor elvdhFonaow

(II) FH% ;33!3 ©8 Jwrdd JosGBd HPE T, a’;::&din sado o'z 1500
208 éadﬁgﬁam -&aaﬁ:.

Directign for, Q. No. 91 to 95 : For the Assertion (A) and Reason (R) below, choosg the correct
altemnative from the following as :

(1), ifboth {A) and {R) are true and (R) is the correct explanation of (A)
(2), if both (A) and (R) are true and.(R.) is not the correct explanation of (A)
(3), if (A) is true but (R) is false

(4),if(A) is false but (R) is true
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9] So0d 95 SEK Ko PHO : (B8 PHS' cndwadd Y ddco (A), sEndn (R) o §od
odFres’ AGFsTen
(A), (R) e Bodr D220 S80i0 (A) 8 (R) 966085 DB wond (1),

(A), (R) e Bodr dadan Sbon (A) 8 (R) 8508 dde s eand (2),
(A) Dz, 5 (R) 859 wond (3),

(A) 853, 5°0 (R) Jzdn 0ond (4), ©d J8FI0s»

91.

92.

93.

94,

Asserttion (A)

Reason (R)

ASSco (A)

5320 (R)

Asserttion (A)
Reason (R)

dyEeSco (A)
&0 (R)

Asserttion (A)
Reason (R)

dHEHco (A)
sp=sn (R)

Asserttion (A)
Reason (R)

AZ)eeico (A)
5500 (R)

: Subhas Chandra Bose resigned trom the office of the President of indian

Nartionai Congress in 1939

: Subhas Chandra Bose left congress to form the Indian Independance

League in South East Asia

: 1939 &* oerltol H% rdd 80D 5ot DBwE), wdgE HEDS

oS> DA

: oer@tols &°Q erd8 Andod O ef)od edaSrS® (FEedoST s,

Fofindn SE0DE IPITEH

: India has a tropicel monsoon type climate
- India 1s located exactly between the tropical latitudes

1 Urodr BF0, &3 DBF e D0 SrH8 TeSCmodd DA totnod
: Irod> Bio, oD EHES vpoFine Sugg KO S5EPEI0 wenIs

: Mercury is the farthest planet from the sun
: Mercury is the smallest planet in the entir'c solar system

: Argd 008 vEgdE drdod &8 (o wodich

: Jogo Srdioinoadng” miHhd w8 Y Waro

: India is facing the problem of inflation
- Inflation is caused by the raise of prices of commodities

L grEE3F0 (B’ gen DD I8 0% 0d
: 5P0 b DEKE, BT goRinGd SEnin 008
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95. Asserttion (A) :Metals are present in molten state inside the earth
Reason (R) : Earth absorbs the sun's rays

dfddeo (A)  : Srdoen, drde SHo (BSErD0s" dotron
soosn (R)  :erd, drdy Eberoi 85 S'H08 Heoy)Fotnod

Study the following information carefully and answer the questions 96 to 100

Seven Airlines namely Jet Airways, British Airways, Delta, Quantas, Emirates, Lufthansa and Aur
India cperate flights to London. Begming from Monday and ending on Sunday, on each day of the
week, there i3 only une flight to Londoa.

Di¢lra flies on Wednesday. Air India flies the day next to British Airways. Two airlines fly between
the days British airways and Emirates fly. British airways does not fly on Monday and Friday.
Emirates does not fly on Sundav. Quantas flies a day before Lufthansa flies.

G bd 0w Rirood) ST wdsalso T 96 Lod 100 385 Ao PHek 2o
QHoE.

B Jonb3S, DHL Jond 3B, Gep, 50D, I, Ty HBckn Jonb Rodair w3
D DS BoHen wodls DdrTren SdParon. Fhardo Tnden wbardo S8, TGS’
B8 Sz wodldd ol 2.4 5% Sogn Gotwod.

Bep adado SdH@ol. DBAR 008 30 SED G WIS 6l Jond Rodolr SEHHB.
SR JonEIT 58050 BT S&D Fare 85" Tod DHrd DoPus JdrToi Sheron.
D80 JonbIT Floade, HETGo Diraren SEHM. JBE) sbTdo SEDHD. e S&D
Ferdf, wl Far 3508 &erd sgoirs SdYeod.

96. Jet Airways fly on this day

(1) Fnday (2) Sunday (3) Tuesday (4) Thursday
2 Jow53H B8y ol G
(1) ®Ezdo (2) uwé&zdo (3) Doonidado (4) dado

97. Number of flights operating between Lufthansa and Delta is

(1) One (2) Two (3) Three (4) Four
endan Lo8ckn Bere MGy SDYPMS) IS e dopg
(1) =88 (Z) Bodo (3) Sardo (4) arentd
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98. The airlines that operate its flight on Friday, 1s

(1) Airndia (2) Quantas
(3) Lufthansa (4) Delta
HETSoTds b $cHYSHT) S-S JoP

(1) Qdond aoddr (2} 5080
(3) oxy (4) Bep

99. Due to some technical reasons, if Delta postpones its flight to Sunday and all the fiights
scheduled from Thursday to Sunday are now advanced one day ahead of their schedule, the
one that would now fly on Friday 1s

(1) Lufthansa (2) Quantas

(3) JetAirways (4) Brstish Airways

§J) 0888 e Sud T g5 Dbruo sBITEINIH T 38, S8a%0
Kodharto $o08 FATES0 565 o ©) AFas S6idoen o8 &or DB 2008, adydd
HEso 3 DS Sg

(1) eooaram (2) sgobod
(3) B NonEIB (4) BS88 don&IS

100. IfJet Airways is related to British Airways and Air India is related to Lufthansa ina certain
way based upon the given flight schedule, then based upon the same relationship, Emirates

is related to
(1) Jet Airways (2) Lufthansa
(3) Delta (4) Quantas

88 S Hégn wrrdorr, w¥ I8Q DhoDos® HER DonEIRE" B JowdAD Hobasn
oZTS Jows 20805rd Soporrd) EOA Hod, ¥3 Hwoged® JATESE Jowodo

507 &038?
(1) B8 dons3% (2) o
(3) ez (4) sgobR
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